Ausschaltverhalten Tlefsetzstellerbetrleb (Rofrns = 0,4782)

< O T T T T T T T T T T T T
S B00 i W Zd(lkW)
S RERERRRE P . iq(1, 5kW)
. . id(2EW)
; S | —— uas(LEW)
~ 7 | = uas(1, kW)
3 1 | —— was(26W)
= - —20—1I5—1I0 —I5 (I) ll'_> ].IO ].IS 2IO ZIS 3IO 3;'5 4IO 4IS 5IO 5IS 6IO 6IS 7I0 7I5 80
t / ns

ar . . . . . .

AR
e R T |:' ,“ r A g E s e ugs(1kW)
o it ATV R AU Tk oo el ESTEY ugs(1, 5KW)
3@ ek 'l:ll ‘f T A U SRS "'Ugs(ZkW>

P

J
-20-15-10-5 0 5 10 15 20 25 30 35 40 45 50 55 60 65 70 75 80

t / ns



